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INSTRUCTIONS TO CANDIDA’ ”"6
Read the following instructions carefully before you answer
the questions, Answers should be marked in the OMKE
Answer Sheet using black ball point pen.

1. This booklet consists of 100 questions for four subjects
with 25 questions in cach subject,

1-25 Mathematics
26 - 50 Science
51 =75 Social Science

76 = 100 Mental Ability Test
2. Each question carries one mark,

3. Since the time allotted to the Question Paper is very
limited, you should make the best use of it by not
spending too much time on any question,

4. If you do not know the answer to any question, do not
spend much time on it and pass on to the next one. If
time permits, try the questions which you have left in
the first instance.

5. Blank pages are provided for rough work at the end of
the Question Booklet,

6. Choose the correct answer from the options given for
each question and darken the corresponding circle with
black ball point pen in the OMR Answer Sheet.

7. Handover the OMR Answer Sheet only to the
invigilator and the candidates are allowed to take the
Question Booklet with them,
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MATHEMATICS / &ewflgn

then (a4 b)+ (a~Db)

(1) 7 (2)

3 o (4) 6

. 1 5
A rational number between 3 and 5"
C

4 8

M 3 @ 3
1

B @ 3

3.  Which of the following illustrates the inverse
property of addition ?
1 1 1 1
1) 8 8 @) 8 8
s il ) RS sty |
©) Biy. 8 R
4. is to be added to 242 to get 252
1 72 (2) 6
3 52 (4), 04
5.  The cube root of 0.000004913 is :
(1) 0.17 (2) 0.0017
(3) 0.017 (4) 0.176
IX-22

|
a==:b

2
5 : erafléy, (a+b)+(a=b) =

o
—
3
—
N
N

l~ LD MILD g HweuphnE Qe _Guw
o e ¢p(h eNElFupm eremr |

8
@ 3

4
M 3

(3) —Z— (4)

Gemeupeuameumdled erg gL adle
Corwry uamdener eflers@dng) ?

1 1 1 1

= S )
@i Qe 8
3 _1_ —_ l =() 4 l -+ .!'. = }.
©) S o8 *) & &4
252-0 Qup 24221 ar __ -m&
L Geuawr(hLd.
(@7 (2) 6%
3 52 @) 42
0.000004913 -@er SaTELPROLD :
(1) 002 (2)  0.0017
3) 0.017 @) 0.176

P.T.O.
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6. Match the following

{a)

(b)

i (d)

(1)

(3)

(4)

(2)

(4)

1)

()

m n

a"" xXa (1) (ab)ymn
a™+an (1) amn
(@a™)" (iii) am*n

a™ x b" (iv) am-n
(a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
(@)-(i1), (b)-(i), (c)-(iv), (d)-(iii)
(@)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

(a)-(iii), (b)~(iv), (c)-(ii), (d)-(i)

7.  The perimeter of a circle quadrant is :

(w+2) r units

(w+2) d units

[§+2J I units

(%+2J d units

8.  Factors of 9—m? are :

1
)
3
4

1X-22

(3+m) (3+m)
(3-m) (3+m)
(3-m) (3-m)

(9+m) (9-m)

www.CBSEtips.in

QUS55 :

(a) am™xan (i) (ab)™"
(b) a™=+al () e
(&) (a%)" (i) a® T
(d) amxbn iy a"

(1) ()-(ii), (b)-v), (c)-(), (d)-(i)
(2)  (a)(i), (b)-(i), (c)-(iv), (d)-(iii)
(3)  (a)-(i), (b)-(3), (c)-(id), (d)-(iv)
(4)  (a)(i), (b)-(iv), ()-(ii), (d)-()

&Te el L Sdlem &Hmenay :
(1) (@+2) r SAGs6T

(2) (w+2) d S0@s6T

(3) [% 35 2] I SVGS6T

4) [g + 2] d S@ser

9-m? -en Enyeriser :
1) @+m)(@3+m)
2 @-m)@+m)
(3) @-m)(3-m)

(4) (9+m) (9-m)
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9. The largest number of the three consecutive | 9, SOFEHEE apeny eramsmaiic WBlasl

gumbers is (1 4 2), then the smallest number Wuflus eras (x+2) sreflen, Blas Sblw
is: ’ T et |

[ 2 @ (1 x=1 (2 =x

M 1 @) x=2 (3) x+1 (4 x=2

10, Find the equation for 9 less than twice a | 10. @i eramanflen @) mw iudleblmpa 9 -2

pumber is 15 @@opsss feniliug 15 ereflen, s
senm(y

(1) 9%x-2=15 () 2x-9=15 (1) 9x-2=15 (2)' 2t-9=15

B) 15x-9=2 (4) 15x-2=9 (3) 15x-9=2 (4 152-2=9
ﬁf&t Wlud\ one of the following is correct ? 11. Spésam_eupmer ergy sl ?

(1) a’-b*=(a+b) (a2-ab+b? (1) a’-b*=(a+b) (a®>-ab+b?)

@ a’-b’=(a-b) (a?+ab+b?) ) a’-b’=(a-b) (a®+ab+b?)

B) a*-b*=(a-b) (a2-ab-b?) (3) a’-b*=(a—b) (a2—ab-b?)

4 a’-b3>=(a—b) (a2—2ab+b? (4) a’-b*=(a-b) (a2-2ab+b?)
ﬁ*&b ,j ‘ ; : T o ceesieh 6 il N

g n. If the length and breadth of a rectangulax 12. @@ Qsmms Qulg.eu Qﬂu@ﬂé ’aru.:
: pmhngam512y3and7xyz then the area 2y

() 3By 4) 122%°

T i flwwg.ﬁ S aTNG
13. B 1 ‘
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14. Two numbers are said to be co-prime
numbers if the HCF is :
(L) 2 (2)0 ¥l
(3) 10 4) 3
15. If x% of 800 is 500, then the value of x is
(1) 16% (2) 62%
(B)F 1 62:5% 4) 75%
16. The range of the data 310, 30, 15, 290, 110,
b 2DHS”
(1)3310 (2) _ 5
(3) 315 (4) 305
17. The decimal form of 2999 +491 +50 + 2 +
7 4
il iy S
10 1000 °°
(1) 3542.704 (2) 3542.74
(3)= 3542:11 (4) 2542.011
18. Which of the following pairs is equivalent ?
-20 5 7 -5
Wiy () iy
-18 2_0 4 16 :_8_
) 364 @) =35 75
IX-22

14.

15°

16.

172

18.
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@) iy &t () cramsafian BuGQu@m QUTEHS

sryenfl ______ eraflé, siema FMT-UST
Grezfma;ci'!(’:‘_’%@m,

(1) 2 ()il

3) 10 @4 3

800 -@)én x% eranuig 500 erafled, ¥ -G
wHliLy
(1) 16% 2) 62%

() 62.5% 4) 75%

310, 30, 15, 290, 110, 5, 25 e Sya satlen

&
(B 310 @ 5

@) 315 (4)

7 4 : .
— + — 60T
2999 +491+50+2 + 10 1000 creaTUS

S&LD GUIgeULD :
(1) 3542.704 (2) 3542.74

(3) 354211 (4) 2542.011

Yemau@mb Cargsaeflc
eramaetien Camquim@n ?

6T &Wme

—-20 5 Tk — 5

-18 20 16 -8
3 ) Ry —_—,
() 36 44 (4) =30" 15
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the scientific form of 0.0000000002020 :

19.
@ 202x107%  (2) 2.02x10°
@ 202x10°1° (4) 2.02x10-9
20. The plane surface that is enclosed between
2 radii and the circular arc of a circle is
(1) Central angle
(2) Sector
(3) Segment
(4) Arc
21. The lines y= —3 and x =4 intersect at :
1) (=473) @ (=349
3 4 -3 @ G4
22. Selling Price = ?
(1) Discount — Marked Price
(2) Marked Price — Discount
(3) Marked Price — Cost Price
(4) Cost Price — Marked Price
IX-22

19;

20.

21.

223
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0.0000000002020 -@en  APledlwie
GO0 :

@ 202%10-° @ 202%10?

(3) 202x10-10  (4) 2.02x107°

@ Ul Lgdlen @ran(h 2 TRIFETTEILD,
SIS DYTESETTE GULL ufl Sude
Qeul_LLiu@b efléorgb e uBD

FLOGETLILIGS

(1) ewwsGCaTeRTLD

2) el L&Csran UGS
(3) elLggar(

@) el Leflé

y=—3 aremp Ga&TEID x=4 eran CHTHLD
sh&@D Lerarf :

@y (a403) @ (=39
G @ -3 @)@, —4
elpuenen efleney eremg)

(1) seTEhuy — GNéS efleve

(2 ©iss el — seTEsiy

() ©GNss lever — L &S elene

4) 2Lss oo — GhSs elene

P.T.O.
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20 men can make 40 articles in 10 days, Then

5 men can make articles 1n

5 davs
n 35 @ 10
\\‘ 15 (l) 1 )

For 3 vears the difference in compound

interest and simple interest = ?

-~

r

(1) 100

o rh [

n
T
Pi3+ —
) ‘ 100
" Pnr
@ T

25. The circumcentre of a right angle triangle

lies at the midpoint of its :
(1) base
(2) opposite side
(3) hypotenuse
(4) median
IX-22

23.

24.

257

20

LT (m LB enelT (ol

i, 6o 5 61

www.CBSEtips.in

TR safléd 4
piag) (plg LI eremay, s

‘gl ey
’[b M.

<}, 60T &5 611 5 . s
QLI &HEmeTT Qg (P
(1) 7% 2) 10
@) 15 (4) 12

3 ap @ (HEHEHES: gnl_(h G]JL'_.lq.éS.@L'D ,{5@
L lgd@D @G 2-erer NS WITELD

o p[Lf

@ "z [+ )
o Pl

W'

@@ QFmCsran W&Caranmgde HHM)
QUL enOWILD HEHOULLD LIGSLD :

(1) SgUUESWD
(2) erdrliussd
(3) &rewrbd

4) BEECETE
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SCIENCE / gnleflwiev

The retrad tive index of Kerosene
M 1 (@) <1

) >1 ) 0

The tormula for \l‘(‘\‘\i ol sound 15 Y = NA,

Here ‘n’ refers to:
1) Wavelength
(2) Pitch

(3) Frequency

(4) Amplitude

28. In bus and lorry, water is used as coolant in
the radiators because of :
(1) More heat capacity
(2) Specific heat capacity
(3) High boiling point
(4) Low boiling point

29. Gold is an example for material.
(1) diamagnetic
(2) paramagnetic
(3) ferromagnetic
(4) ferrimagnetic

IX-22

20,

28.

297

L0ator (ol ennr eor Gl eanruf . gpatlahlanma) or ot

el i) s,
(1) | (4) ()
Gpe0ludlaor Coumin s gpih SLEININ(H = DA,

@)@, ‘N Grenag)
(1) .'1)|¢,n)c,l)ﬁ;a,nli)
(2) P

(3) oGl 6

4) alss

Gumbg HmHLD awnflaaflay z_erer
G Gwifd Seny @eflielirentss
LWL (DG eUS DS SITIFesmTiD :

(1) s Qeuu epubslpen
(2)  gen Geuliu LB men
@) s Qsrdlblenc

(4) @@ppy Asrdblae

SEED. o (ol LT (1m) 67 & (615 & ()

T (HSHGHSTL(H.

(1)  Lwr srhgLU

(2) wmrpr SIHSL

@B)  SLuiGyr smhgL

(4) oGl smhg
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31.

32.

33.
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In plants, conduction of water to various

parts from root is based on

(1)  Fnction

(2) Surface tension
(3) Transpiration

(4) Pressure

We get a shock from doorknob after rubbing
our feet on a carpet floor is due to

(1)
2
()
(#)

Charging
Current

Electric discharge
Earthing

The disc used in Gold Leaf Electroscope is
made up of an alloy

bronze

1)
()

brass

(2)
(4)

nichrome duralumin

In SI unit, the value of 1 atm pressure

(approx.) is
(1)
2
®)
4)

100 pascal
10,000 pascal
1,00,000 pascal
1,000 newton

IX-22

30,

31.

10

I2%

33,
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Brreng) sreunmisetien Geufedlmbdl b

LI T & T & (611 & (8 . Y ARINIC P 0N

SITTERTLDTEN LIGHTL
(1
(2)
)
(4)

2_mii6y

uriy @ peilens
Brrelll Curée
(PSS

sbuagHe srasmers Csuisg 6l 6
sgellean sl Vgamwup 0grHLEUTE

L6l b1 D H &S gHuBHeusnHs e
STERTLD :

(1) WerCarpod

(2) Wengr L b

(B) Wenaflip&sid

(4) yelsQsTEUY

shs Qmo Hoo Weararliguid
vweru®ssuuBn  GWp CGumrerp

Sowvu9e uvwau@Gb ooCorss
SOEE !

(1) Qauawseow (2) Wssamer
@) H&Grmbd @)  qyrreiden

SI 2edled 1 atm -6t WwHUL :

(1) 100 wumrense

(2) 10,000 urev&e
(3) 1,00,000 LreL&Q
(4) 1,000 Byl L e
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The non-metallic atom have

34.
(1) Variable valency
(2) Negativey alency
(3) Positive v alency
) Zero valency
35. Which of the following statement(s) is/are
wrong about natural gas ?
(a) It does not produce lot of heat
(b) Itcan be easily supplied through pipes
(c) Itis used as an alternative for petrol
and diesel
(d) It releases lot of smoke
(1) (a) and (d) only
(2) (a) and (b) only
(3) (b), (c) and (d) only
(4) (d)only
36. Water gas :
(1) CO+H,0O (2) CO,+H,
(3) CO+H, (4) CH,+CO,
IX-22

11

34,

35:

36.
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O BQITE; o/gIBHET (o) a3 17 65867 L6661

(1)  wrmu®n @) én vt p ot

(2) erfimwenm @) enemr | m et
3) Gpirwep @eemSmen
@) uyRBw @ e et ment

Qupens qumieneuls LbPlw 191 16U (THLD
spmseilds SeupTaTELDEDS a5,

@) Quemwereld QeulLs®S
QeuefludiLmg).

(b) GYTUSET EPELD crafifer erHEHF
Qeenm Carés (PigWLD.

© QuiGrred wLHHL LIRSS
uders LwaTUHEDI.

) erflywCurg <igls Hasamw
QeuaflullHdmg.

1) (@) wom (d)

2 (a) LoD (b)

3) (), (c) LpYD (d)

(4) (d) wLEW

B eumry ereug) :

(1) CO+H,0 2) CO,+H,
3) CO+H, (4) CH,+CO,
P.T.O.
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\ }J 15 used as reducing agent in the
arachon of metals
Loal tar (2) Coke
Lagnite 4)  Coal gas
38, The constituents of bleac hing powder
Sadium, carbon and oxy pen
(2} Calcium, oxvgen and chlorine
(3  Galcium, hyvdrogen and oxygen
(#) Calaum, carbon and oxygen
39.  The Dalton symbol of carbon :
m @ @ ©
& @ @ O
40. Match the following :
(a) Copper sulphate (i) Gypsum
(b) Ferrous sulphate (i) Salt petre
(c) Potassium Nitrate (iii) Blue Vitriol
(d) Calcium sulphate (iv) Green vitriol
1) (@), ©)-(), ()(ii), (d)~(ii)
) (@)ii), (b)), (c)-{ii), (d)-(i)
() (@)ii), (b)), (c)-(iv), (d)-(ii)
() (@)-Gi), ()-(iv), (c)i), (d)-(ii)
IX-22

12

38,

39.

40.
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' 1t gl 651 &0l ¢r, i,
o Carsmisa@ar BT 5 ﬂv,l f‘fn b
A 8 @ () Ol 0 TICEL I
Lt (heu g
se0 5l

(2)
(4)

(1) sfggnm

1) sfleumu
(

@Ol a6t L

somaid greflar L@l Gumman :

Gamgwib, SriUes WDHDHILD

(N
<9}, & et

(2) sroflwibd, ps8lges WHMID
@Gerrmifl e

(3) a&redlwbd, enamL e HDID
< S5Egen

(4) smflwb, sTTu WHMILD

2,58 et

sriueafler LreLer @Hui@ :
o © @ ©
6 @ @ O
QuUTSEs :
(@ smlly soCul (i) P INETh
b) Qmby s0GUL (i) smer S
(€ Quriimdwd (i) wule SSFLD
bl Gyl
(d) srofluw soCuL (iv) uéenss
CEEI
(M @-(iv), o)), (o)-(ii), (d)-(ii)
() (a)~(iii), (b)-(iv), (©)-(id), (d)-(i)
() (@r(iid), (b)-(i), (c)-(iv), (d)-(ii)
4)

(@), (0)-(iv), ()i, (d)-(i)
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42.

43.
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Brine solution s electrolysed to ‘\l\\\h.\’(\ '

ra)  Sodium hyvdroxide
B Chlorine

(¢) Nitrogen

(d) Bromine

(1) (a)only

(2) (a)and (b)

(3) (a), (b) and (0)

(4) All of the above

The tikka disease in groundnut is caused
by :

(1) Cercospora personata

(2) Fusarium oxysporum
(3) Pyricularia oryzae

(4) Albugo candida

The amphibians of plant kingdom is known
as :

(1) bryophytes
(2) pteridophytes
(3) gymnosperms
(4) angiosperms

IX-22
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41. Yevgenr seyae euplGu Wlem gy Hens

Qagdg6umipg Geuafleumeag :
(a) Gamgwib en@mLyréenen(h

(b)  @Germflen

(c)  enpLggen

(d) yGCgmubleo

(1) (a) LG

(2) (a) wppd (b)

3) (@) (b) wHyd (€)

(4) Cupamdu maTsgn

42. CGarssLemowle g&srT GCpreaw
Fghu®SgID 2 udfl :

(1) Qer&GarevGumym
QuirQerGerLm

2) Sy Caflub selevGuryb
@) eufgCaofiur gearGs

4) SoyCGsasr CaerigLm

43. greaur 2 assHar Q@ eurpeilsar’’
Grem emp&EsLLI(heug) :

(1) QGengCuimeeenuiLm
(2) QLACLmemuLT

3) GGarrav@umbaer

(4) Q,@ﬂ@mm’o@ufub&m

13 RT.0.
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44. Match the following

(a)

)

(©

(d)
(1)
Q)
(3)

4)

Waorld Forest Dav

World Water Day (i)  June 5
Environmental Day (i) March 21

Qzone Day (iv) March 22

(@)-(v). (B)-(1), (O)-(1), (d)-(m)
(@)-(in1), (b)-(iv), (c)-(ii), (d)-(1)
(@)~(iii), (b)-(1), ()-(iv), (d)-(ii)
(@)~(ii), (b)-(iii), (c)-(i), (d)-(iv)

45. The greenhouse gases are :

(1)
)
@)
(4)

CO,, O,
C0,, 0, NO
CO,, 05, NO, CH,

CO,, NO

46. Identify the incorrect pair :

(1)
@

()
)

IX-22
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Condyloid -  Ankle
Pivot I : - _-Atlas
‘Hinge' 170 Knee
Saddle - Thumb

(1) September 10

14

(u)

(b)
(c
(d)

~

45.

46.
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a4, Qumbos

e (
wair Heonb (1) ol LIy g

o cum HIr(h
| 6

o eoa b e (i)  gyoan b

sippiegd Hod (D Lo 21

gloament fHleonb (iv) \oIrfrs 22
(1) (a)-(iv), (b)-(id), ) (i), (ch)-(ii)
@)  (a)-ii), (b)-(V). (c)-(ii), (d)-(1)
(@) (a)-i), (0)-0) (0)-(iv), (d)-(ii)

(4)  (a)-(id), (b)-(iii), (©)-()- (d)-(iv)

LiGienLd @)ehev GUITIL| &G :
(1) €Oy Os

@)L €O, 10, N@

(3) CO,, Os NO, CH,

(4) CO, NO

QurmpSTE @amanawd GCoibls0Hs-
S@LD :

(1) aTLememur -  SEEHHTD
(IS
() &pods aplH - @G'ercrr@JLbué
&P

@) SO epl® - s

(4) Geamr epl® -  sleni 6llr¢
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47.  Yeast aids in fermentation with the help of
an fngsynw
Jyvmase () 1 ipase
Lactas (4) Amvlase
48. The laver of tissues that make up the
coloured portion of the eves :
(1) Sclera
(2) Conjunctiva
(3) Cornea
(4) Ins
49. The organ which is used to move from one
place to another in amoeba :
(1) Setae
(2) Pseudopodia
(3) Flagella
(4) Cilia
50. The place of immovable joints in the human
body :
(1) Wrist (2) Ankle
(3)  Skull box (4) Shoulder
1X-22
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ergpib @prdlulen o gpeflullenmed
e a6t Gprdisedlan rHubSlempen.

(1) @sGosd  (2) ewiGud
(3  ewrsaGLev @) DG

e (meund@o fipblaerreorer faiuLew :
(1) eflfiGeuefliuLewbd

(2) &EhEyEIg6euT

(3) eflyfiGeuaruLeb

@) smaf

sBur @fiLsfdmpg wHApTH
@LsnG Bsihg sde LweaTu®BW
2 MUy :

i) e

(2 Gurelssreser
(3) WerrGigereom
(4) &dwmr

wafly 2Ldld msurs epl@
SiewpgieTer LG :

(1) wvafllésl® (2) sgpssTDd
(3) wameL @B (4) CsreTulenL
P.T.O.
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SOCIAL SCIENCE / &0 ipledlue

51. | :W(Bmgimmﬂlq

S1 fhe fort built by Duteh in Pulicate in 1613
was
St Louis Fort
St George Fort
(3)  Geldna Fort
(4) Wilham Fort
52. Destakes means :
(1) Land Tax
(2) Free duty pass
(3) Wealth Tax
(4) House Tax
53. In 1912, the Royval Commission on public
service was appointed under the leadership
of :
(1) Lord Hastings
(2) Lord Minto
(3) Lord Islington
(4) Lord Lee
54. The first Indian King to defeat the British in
war :
(1) Pulithevar
(2) Veera Pandia Kattabomman
(3) Velunatchiyar
(4) Maruthu Brothers
IX-22
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& LEGHETTTHETNG 161,

@& sl Gam_enL :

1) uels qymudlen Cam_enL

(2) L% ygnr’r;ig Gamim_eml
3) Qaevig.Mwm Cam_enL
4) Saedlwn Gar e

FHEVGHS Greg) -

1) fHo o
(2) &S cuffl
(3) Qenpg e
4) oS euffl

1912 -@é s ueaflowd UDH
YN Y021 o S — Bemeen Lol e
Frwe sflagen HimeuiurL g

(1) Capavigraev Ky
2 WearGLr Yy
(B) @evedlmiem Sy
4) o Yy

<24, 1 & G v wi (1, L6t1 CurfL®
sais@ms Conpsnss (s @b
LOGHTGRTIT :

(1) yelsCseur

(2) efyuremgqw &L Qumrbwen

(3) Geugpradlwimi

4) wmg sCargyrEeT
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55. The Mughal Emperor who was declared
Emperor of India” during 1857 revolt :
(1)  Bahadur Shah |
(2) Alam Shah
(3)  Akbar Il
(4) Bahadur Shah 11
56. protected Velu Natchiyar
dunm, the invasion of Sivagangai by British
troop.
(1) Viswanatha Nayakar
(2) Gopala Nayakar
(3) Chokkanatha Nayakar
(4) Kirishnappa Nayakar
57. Pick the odd one out :
(1) Kheda Satyagraha
(2) Vellore Mutiny
(3) Deccan Riots
(4) Bardoli Satyagraha
58. Thiruvaduthurai inscription of Virarajendra
refers to :
(1) Science
(2) Literature
(3) Medical School
(4) Mathematical School
X-22
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1857 Lo Suenr@Guimg @) bl mabl e

o Ol dam . apse

Guiggaymas

LOGBTGRIIT :

(1) (PGEOMD LISENT G
(2)  <@LEULD Qi

(3)  @uewrmn &L

(4)  @ewri D LISGT Gl

o mCeowiflen feummbiens (pmmiensules
Gurg rrewil  Geugummaslwimms s
SLEGOD QET(HSSeUT :

(1)  eNeveumprg HTUIGHST
(2) Carume BTWL&ST
() Qer&sHTs HTWSSHT

(4) SmegewTiiL HTUISHST

QummBsTs eernd CoibolgHEseLw :
(1) GaLr ssHwrdlysnd

(2) Cougnit s

(3) BEETET FHOSHLD

@) uiGgrel ssHwurdlysd

aSrrrGyndlr Cerpaflear HmeurHgenn
SGeuL_(H undl GHNIAHEG.

(1) <dellwed
(2) QesHud

() wmdgeuls Lerefl
@4) seaflgl Lerefl
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Se he soil suitable for millet crop 18 ¢

R\\i \«\l]
<) Laternte soil
(3) Black sail

(4) Mountain soil

60. ______ products are produced from the

grinded marbles.

Plastic (2) Rubber

(4)

(1)

(3) Cement Limestone

is a diagram used to depict the
direction and periods of wind.

61.

Meterograph
Wind Rose
Beaufort Scale
Triple Register
62. The snow clad volcano is
(1) St. Helena
2)
(3)
(4)

Strombolis
Fuji

18
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Hean uidiser LAl ahy 10 gty
UMS !
(1) (& LD LOGT

grenerm LD@HIT
sflga T

LOGNE) LOGT

someld SHSeen gl &8 el el (g

_________ QUIGLEET 2 Dusg
QeiwLuGEDG!:

1) Gpdy (2 @rouf

(3) SQwawr (4) GeTERTTIDL
Hosouud, osD STOS®SYL
foamuLsded GHEGL 0
QuenTLILLD.

(1) BlgGyrdlymd

) eler Crmav

() GGurCuriG GGss

4) Iq-lﬂlﬁ]a) ﬂé]dm_r'r

uafl epyw erflwene :
(1)
)
@)
(4)

Qaulenm._ Qameam
avL_ymCuimred ey
:oLg]u@

Kindly send me your questions and answerkeys to us : Padasalai.net@gmail.com



https://www.padasalai.net/
https://www.padasalai.net/

~ www.Padasalai.Net
&t 1= the Bushy soruBland situated
etween Orange and Jamlwzi rivers
(1) Kalahan Desert
(<) Namab Desert
(2) Sahara Desert
(4)  Atacama Desert
o4. Blue Nile, one of the two important
tributaries of River Nile originates from :
(1) Chad
2) Sudan
(3) Ethiopia
(4) Somalia
65. The colour used to show the places of low
altitude in a Relief map :
(1) Crimson
(2) Light green
(3) Light brown
(4) Red
66. The map which is helpful to find the location
and boundaries of the land :
(1) Thematic map
(2) Cadastral map
(3) Relief map
(4) Isoline map
IX-22
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Mmoens ohmb mrousl pheesss

Al ent
apLLgi Blan

Sl <G LD [B g 6T EIT GR(TH U (D) GeT L

(1) aswarfl ureneeuenn
(2) pbl ureneeuend
(3) S&TET UNEEEUSTLD

(4) SDILESTOT LIFENeUEL6ITLD

wpe pHullen Gran® psblw genen
symsafed gaprar fo apd
prige epusurdpg

(1) &l

(2) @GLmrer

() eraHCwriGwur

(4) GCamomedlwm

@upeswewiy yelluLgde SHss
Gonhs e wreder uGdsmeans
@N&a0 LwaTuBSSUUBL HIDw :

(1) Qeuaflir Heuliy

(2 Geuafli LFers

(3) Geueflir Ly

4) Seuy

Bl s S en 2ien w6l L b WwHmD
Tamaamw Siflu 2 gab LeblluLib :
(1) smagL UL ks

(2) arenflleflls L s

(3) PasCsrppls yelltiub

(4) &0 sareys Cam HU UL kiser

FT.0.
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Whisoh of the IOEIOWInNg 18 are nt the '\‘“ ors

a e LGOVEITIO! appoints the Chiet
ouncil of Ministers

Ainretyr and o

" -
i My LOVveMoOr also acts as the

Chancellor of State Universities

Ne Governor is the real executive of

the State

(d Money bill can be mtroduced in the
state legislative assembly only with the
approval of the Governor.

(1) (a) and (b)

(2) (b) and (d)

(M) {c) only

(4) All of the above

The countries that provides dual citizenship

are :
(1) India and Srilanka
(2) England and Nepal
(3) USA and Switzerland
(4) Imdia and Russia

The term ‘Secularism’ was coined by

(1) BR. Ambedkar
(2) Sam Manakshaw

(3) Anun Singh

(4) George Jacob Holyoake
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) %k"'ﬂ"ﬁ APHEVEN LOFF6m 1,
A e £
(¢ G @i eocmnm»nn.wwuw
Hundadpr

<9}, BB wrflesHad Lo sma;

= &S Gaipsrrsa;
QawauBHDTT.

(©) %@mff mﬂﬁ?w&;@éﬂ HEn eV en |
Hireurd] e

(d) <y (eppiilen @Dqggués@u Lff]sinan(gq
Lenr WGETHTEMEUE FLLLOGTDSSlG)
Qarerr(Heur (PlguLo.

(1) (a) o (b)

(2) (b) oD (d)

3) (o) wLBw

@) Cupsadlu TSSO

“@rieLds Gguyflewn” QULPMI (5D

BT(H&ET :

(1) @pHur wHHD Qemes

2 @rdersg wppn CHUTETD

(B) <QuAssT wHnL selllsrembs)
() @BSuT whmd Feywm

“FowE sriderenn’’ eremm LISSDS
2 (heurddleurr :

(1) BR. SCugsmr

(2) &mb wreEagr

(3) SATgOen iy

4) gl Créss CapraGuns
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70. Choose the odd one out :
(1) Article lo () Article 39(1)
(3) Article21 A (4)  Article 24
71.  The colour of number plate of cars used for
commercial purpose !
(1) Red (2) Blue
(3) White 4)  Yellow
72. The important goal of Brasilia Conference,
2015 :
(1) Tree Safety
(2) River Safety
(3) Road Safety
(4) Industry Safety
73. ‘Field Marshal’ relates to :
(I) Supreme power of Indian Armed
Forces
(2) The first Indian Army Officer of free
India
(3) The highest attainable rank in the
Indian Army
(4) The Head of Army Officers’ Training
Schools
IX-22
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Goumiuni. gpettenmd, Gl hllg(haman :
(1 Gifley 16 (2) 19fley 39(f)
(3) Gfey 21 A (4) 19fley 24
cuentle GBreEsGEEHHTH LI ()50

srflesr “Number Plate” -gp

cuenstemtghdled Liwseorii (g Geuemr (b

(1)  Seuliy 2) fao

(3) Geusmenerr (4) (EHFET

2015 o yawr®h poLGumnp
“QCrHledlwm’  wrpmigem (1pkhslu
CrrésLb :

(1)  FRseT LTSI
(2) pdlaer urgETL
(3) &TENLGET LIMGISMLIL

(4) Qsrflpsrene LTGSTLIL

“Ueb® LITTaged’” eremLg) :

1) Qbsu Qrrapausfar uso
veLuler 2 wflw sewewenwols

Lgaed

2) s QuOHn EbHwreler
s Qrramiel sl

@) @pHwu @rramcusde e Wb
Falgll 2 FEUILE 2 WITHE LS6H

@) darfigar und Lereflsefl e
s@aen Wil s i
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74.  Match the following

(@ Carolina (1)  Tin coin

(d)  Angelina ()  Copper coin
() Cupperoon (i)  Silver coin
(d) Tinny (iv) Gold coin

(D @-v), (®)-(), (c)-(i), (d)-(i)
() (a)-(), (b)-(), ()-(i), (d)-(iv)
B)  (@-@v), (b)-(iid), (c)-(i), (d)-()

@) (a)-(), (b)-(iid), (o)-@v), (d)-G)

75. The public sector enterprises started to
produce goods which were formerly
important and thus to save foreign exchange
is:

(1) The Minerals and Metals Trading
Corporation

(2) The Oil and Natural Gas Commission

(3) The State Trading Corporation

(4) The Hindustan Machine Tools

IX-22
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QumTmSSHIS

@ sGprdam (O Seeres

prremmto
&L
;r)rramu_ub

w gecgder O

Qeuerarfl

() slman () .
([_T)FI'GUUTUJLD

(iv) BWE

(d) game ]
‘[_TQITWUJLD

(1) (@-Gv), ©)-0), ©-0) (d)-(id)
@) (a)-(ii), (0)-0) ()0 (d)-(iv)
@) (a)-(v), (b)), (©-). (d-0)
(@) (@)-(i), (b)-(iid), ()-Av), (@-0)

wperanit  @Qn&GLE Qewwiul L
QurmLsamer 2 Huss Ceweas)
sreayb, @pHu  QFeTeuamiomw
GelluugHaETEa D CTLMEILILL
Qurgisgienn Hlmeueid :

1) srgsser LHMD 2 Cars uiTEss
Blmieuerid

(2) eramGlentil LHMD QWIHEOS
erfleumu) < enemruid

@) wrhe aigss Hmneued

(4)  @psevsrar QuHy smefser
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MENTAL ABILITY TEST / weng$mern Copiey

Directions (Q. No. 76 to 85) : Find the missing andlapepad (el e @, 76 (pgHed 85 aueny)
number/ letter in the tollowing sequences. edraumid g auflenaufley el (HricL. eremr/
TP GIdhamenar &t (5 51 &5 6| D
76, 209, 199, 197 193, 1901, 76. 209, 199, 197, 193, 191,
) 187 () 190 (1) 187 (2) 190
3) 181 (4) 188 (3) 181 (4) 188
7, 5,298, 15,10,23,17, 9, ? 77.. /5,.2.9,5, 15,490, 23417, 2,7
(1) 33, 26 (2 34,25 (1) 383, 26 @) 34,425
@) 27,35 4 33,24 (3) 4R%, 35 (4) 33,24
gh. 48, 97,381, 25, 19,2 78. 43,3731, 2519 °?
1 12 2) 213 @ 12 @ 13
() 14 4) 15 ¢) 14 @) 15
7. 2CA N 101755 27-R 79. 2 CFSIDAIOE,17°],'?, 37°R
(1) 25N 2. 2Q (1) 25N @ 230
(3) 24P @) 26M (3) 24P @4) 26M
B I Aday nCeed O N EA
il \usINPR Y s
1) 11 (2 36 () 1% (2) 36
3 -36 (4) =il (8)  =W6 (4) -m1
IX-22 23 P,
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s 5 3
. \ 4 \ L 9 .3 81 3¢ rrih 1 /" e 2
= X \ \ - 1 \ \ (/
& e L o
/
N \ 3y | /
~ N S 6 7 N 3 S 5 0 7 8
i () 36 (1 38 Ll 136
() 28 @ 32 3) 28 (4) 32
82. 512 343 216 82 512 343 216
S@:u 1\7//125 27@1'5 8@216 1@12‘3 27@12;
o4 27 o4 64 27 64
1 21 (2 225 (1 21 (2) 225
(3) 1e (4) 215 (3) 16 (4) 215

DA K= DG D <D
D
ERS R K> | RS &S &S
(1 92 (2) 52 (1 92 (2): 552
(3) 56 (4) 26 (3) 56 @) 26
8 1 A|lB]|D 84 A TB [D
BB L 1 B I
CY H ? @ AHA
1y o (2 N 1 o 2 N
3 M ¢4) P B) M @4 P
IX-22 24

*
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Q l\\ l\\ Q Q RR

() aababb (2) babbab

(3 ababab ) baabaa

Which set of numbers is like the set given ?

(7, 42, 252)
(1) (8 48, 64) (2 (6, 42, 294)
(3) (6. 36, 216) (@) (8, 64, 216)
BY. 27:63:--64:?
(1) 124 (2) 125
(3) 216 (4) 215
88. If in a code ‘MARK’ becomes ‘JXOH’ and
‘SCORE’ becomes ‘PZLOB’, then what will
‘RANK’ be in that code ?
(1) OXKH (2):: OXJH
(3) KHYO (4) JTHY
89. If Q=17, S=19 and PARK =46, then how
would you code “ENJOY’ ?
(1) 64 (2) 69
3 70 (4) 60
IX-22
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a_ba_baa_a aa

(1) aababb (2) babbab

(3) ababab (4) baabaa

QarHEHSILL(DeTer 3)6nemnTad Flg et

@ enemt 61 ?
(7, 42, 252)

(1) (8, 48, 64) 2) (6, 42, 294)
3) (6, 36, 216) 4) (8, 64, 216)

27 : 63§ : 642

@ 4 @) 125

@) 216 4) 215
GISLG wpeonuie MARK eaug

‘TXOH’ eremmayld, ‘SCORE’ eresiLig) ‘PZLOB’
ereeylb GMdaELLLL e ‘RANK’ erasLig)
ereuaumm GMudL Lu@mim ?
(1) OXKH ) OYH
(3) KHYO (4) JTHY

Q=17,S=19 wopmw PARK=46 erenm
GO LU@BD eraflé, ‘ENJOY’ eremuig
ereueurm @GMuiL L@ ?

(1) 64 (2) 69

3 70 (4) 60
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In certain code ‘GOOD' is written as — * *
£ 7BOY” is written as % * = and ‘SMART'
Wntten as ‘X ? + @ ¢, then how will the
word ‘GOAT be written ?

M -x+s @ $%+x
4) =+ =#-

Arrange the following words in

Alphabetical order and select the correct
sequence :

(a) Accord Access

(b)

Accept (d)

Accurate
Accent

(). (©). (d), (a), (e)

(d). (®), (©), (e). (a)

(d). (e). (9). (a), (b)

(), (c). (b), (a), (d)

&
®  ©

(@) (d)

Identify the diagram [(a), (b), (c) and (d)] to
which the sets of words belong.

(e)
(1)
(2)
3)
(4)

face, mouth, teeth

2
4)

(b)
(d)

(1)

(3) (9

IX-22
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GO pepuded ‘GOOD’ T
« » #, eraneyd ‘BOY’ eremiig <o g8
cranayb POILD ‘SMART' Gremg
@ aramaib TFILOL aafle, o,
Gramugl eTeUeUT GT(RSLILIGID ?

1 -x+8% (2) % %+ x
B) ?@x+ )10 i
GereuHd  QUTTEMSEemar <5y

aflmsle auflmsiu®@sd &fwurg
aflmsows ComMbEsH&HLD.

(a) Accord (b) Access
() Accept (d) Accurate
(e) Accent
1) (b)) (@) (@) (e)
2 (), ®) () () ()
@) (@ () () (a) (b)
@ () (©) ®) @), (d)
&
O
(2) (b) © (d)

QAsr@ssuuL Heter UL iisaled b
[(@), (b), (c) LHMID (d)] Nerm 92 G
SruULBeter QasrElbHE QeowbHs
uLgdlean Cairey Qeiis.

(PSLD, QuLl, UD&ET
1) (a) 2 (b
G) (9 @ (d
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Which of the

lolh‘\\ang word can be
Formad by using the letters of the word
"REVERBERATION” »

(1)  EVERESY () BIRTH

‘ -
(%) BENT (4)  ACTION

In the following diagram, the square
represents women, triangle represents
corporate managers and circle represents
MBAs. Which numbered part represents -

women - MBA - corporate managers ?

a 3 2 5

(3) 8 4 13

A 1s B's sister, C is B's mother. D is C’s father.
E is D's mother. Then how is A related to
D?

(1) Grandmother
(2) Grandfather
(3) Daughter

(4) Granddaughter

X-22

a1

9.

9s.

‘r‘mm
GuphgEsan e
auir it dhan g en i

‘REVERBERATION®
it g e gl gy e ar
ST UNICT Y g Y

o meirksarin !

(1) EVEREST (2) BIRTH

() BENT (4)  ACTION

Qar@asiulBerer uLsHo, gD
Quarsaerujb, psCararin B p e
Cuaraia@erujd, 6L MBA
ugssauismarud Ghsdpy Qoo
ahs eram MBA ugps Gueanr Fipeuen
Cuowraers @hHadpg ?

13
10
6 5\ IS 4
(1)..3 2 S
@) 8 @ 13

A eranueuir B -eér sCargfl. C eramueui
B -én gmiy. D eremueuir C -ar 3hens.
E eremueui D -enr gmi erafla,
D eremuaumé@, A erenen 2 pey ?

(1) wurlg

(2) prgan

(3)  waer

4 Cusd

P '.r' o.
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6.  Select the fiqure from the given options (1), 96. gg@é;m@tb UL—Q'Q@T (X) Qﬂ@'\l&k
(2), () (4) which when Kept in the blank ‘—'@fé’]ﬂmm Gy G]&”@&&ngrb\%rn
space of tigure (X) would complete the (1), (2), (3)' 5 ..c%éﬂlu LT
pattern AL seld@ps CHMBASOGs0,;
2 | 2

X X)
B
(1) . (@i (1) : @
| (3) @) : @3 F @) -
97. 97.
The No. of rectangle in the given diagram is : Qar@&siiul @erer UL GHe e der
Oecueusmsaiian oramanilsams :
(1) 18 (2 14 (1 18 @414
(3) 12 4) 16 (@) 12 4) 16
IX-22 28
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99. In the following question, four figures (1),
(2), (3) and (4) are given in which three of
these figures are alike in some way, while one
is different. Find the one which is different :
o | N @ Q
o | o ey,
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